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 Revision 2 Answers  
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The independent term occurs when   𝑥10−2𝑟 = 𝑥0 , 𝑟 = 5          (10
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𝑦 =  3𝑡𝑎𝑛 𝑢,   𝑢 = sin 𝑥     
𝑑𝑦

𝑑𝑥
= 3 sec2 𝑢 × cos 𝑥   = 3 cos 𝑥 sec2(sin 𝑥) 
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The gradient of the tangent is −
−2+3

−3+2
= 1, The equation of the tangent is  𝑦 = 𝑥 + 2 
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5 Roots of   𝑧 =  −1 + 2𝑖  and   𝑧 =  −1 − 2𝑖     

Leads to            (𝑧 + 1 + 2𝑖)(2 + 1 − 2𝑖) = 𝑧2 + 2𝑧 + 5 

Thus    𝑧3 + 𝑧 − 10 = (𝑧 − 2)(𝑧2 + 2𝑧 + 54)  
Roots are 𝑧 = −1 ± 2𝑖  and 𝑧 = 2 

 
6 The sum to infinity is  
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7  𝑓(𝑥) = 𝑡𝑎𝑛𝑥 ,   
𝑓′(𝑥) = sec2 𝑥    

𝑓′′(𝑥) = 2 sec 𝑥 sec 𝑥  tan𝑥 = 2 sec2 𝑥 tan 𝑥 

𝑓′′′(𝑥) = 4 sec2 𝑥 tan 𝑥 tan 𝑥 + 2 sec2 𝑥 sec2 𝑥  = 4 sec2 𝑥 tan2 𝑥 + 2 sec4 𝑥 

 
𝑓(0) = 0, 𝑓′(0) = 1,   𝑓′′(0) = 0,   𝑓′′′(2)     
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8 For 𝑥 = 1, 𝑢 = 2    

For 𝑥 = 0,   𝑢 = 1       
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